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Note: All questions are compulsory. Marks are indicated against each question in square

brackets.

1) What are the desirable properties of descriptors? With an example show that chain code
is rotation variant and how can we make chain code rotation variant. 5]
2) What do you understand by Polygon approximation? Explain two polygon approximation
methods with example. (5]
3) Write a note on the following boundary and region descriptors-
a. Boundary straightness

b. Skewness

e

Boundary length
d. Euler number [4]
4) Look at the following histograms for images A, B,C,D, E and F. All images of the same
scene. Zero represents black and 255 represents white.
(2) Which of the images D and E has a higher contrast? Why?
(b) How does image B look like compared to image A? Explain.

(c) What is the relation between images C and D? Explain your answer. 5]
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5) Find out the first order and second order derivative of the given pixel values. What

6)

7)

8)

information do we get from first and second order derivatives of the given data? (4]
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With an example show that how can we remove the noise present in the background
region using morphological operations? [4]

Consider the following binary image and structuring element. Find XOB

ol O = o o o
Q| =] = = O o
O
Q| O = O ©f O
o] O O o o o
Ql O O o o ©

0

0

lO

0 1

0 1

N 0 3]

Consider the following 5x5 binary image. Find out the moments m00, m10, and m01 and then

find out the area and centroid of the object. 1's belongs to the object region and 0's belongs to

the background region.
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